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“4 1]  SEovEE 5,500 5,390 4,840 “ )| K33 2,740 2,690 2,420
HaRAEHEIE 2,750 2,640 2,260 Ha :Hé*ﬁééﬁ 1,370 1,320 1,130
EHFE KX TN 5,930 5,830 5670 |EHFH E3 2,960 2,910 2,830
@R BERAEHEIE 2,910 2,810 2,810 EIR e :Hé*ﬁéﬁﬁ 1,450 1,400 1,400
=10 EZ: TN 6,380 6,270 6,160 =10 ST a 3,190 3,130 3,070
= HBERAEHEIE 3,080 2,970 2,970 = e :Héffﬁ et 1,540 1,480 1,480
= [ KX 6,810 6,700 6,270 2= ST a 3,400 3,350 3,130
= BERAEHEIE 3,350 3,240 2,970 = et E T 1,670 1,620 1,480
&R KX 7,090 6,980 6,810 23R SEovEE 3,540 3,490 3.400
! HBERAEHEIE 3,350 3,240 3,240 ! BEAEHEIE 1,670 1,620 1,620




